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Question 1   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Round 874 532 to the nearest thousand.

A) 870 000

B) 874 000

C) 875 000

D) 880 000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,718

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 2.03

B) 2.12

C) 2.325
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D) 2.6

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,728

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

32 x 200 = _____

A) 96

B) 960

C) 9600

D) 96 000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,730

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Express 1070 cm in metres

A) 1.7 m 

B) 1.07 m 

C) 10.7 m 

D) 10.07 m

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,735

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A)

B)

C)

D)

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,742

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Find the value of 32+18x2-48÷4

A) 5

B) 13

C) 56

D) 88

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,746

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A) OE

B) CE

C) AB

D) OB

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,751

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 8   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

There are 28 blue marbles and 32 red marbles in a jar. What is the ratio of the number of blue marbles
to the number of red marbles in its simplest form?

A) 7:8

B) 8:7

C) 7:15

D) 28:32

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,760

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A photocopy machine can print 800 pages in 1 minute. At this rate, how many pages can it print in 1
hour?

A) 4800

B) 8000
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C) 48 000

D) 80 000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,774

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 10   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) AE

B) BC

C) CF

D) BD

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,777

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A) A

B) B

C) C

D) D

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,781

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 12   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A)

B)

C)

D)

Question Type: Multiple Choice
Randomize Answers: No
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Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,787

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 13   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Cynthia bought 40 cupcakes. 12 are vanilla cupcakes and the rest are chocolate cupcakes. What
percentage of the cupcakes are vanilla cupcakes?

A) 70%

B) 56%

C) 45%

D) 30%

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,790

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 40cm3

B) 160cm3

C) 240cm3

D) 400cm3

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,793

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 15   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A)

B)

C)

D)

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,802

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Q ti 16
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Question 16   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Write one million, forty eight thousand and twenty nine in numerals.

Accepted answers:

1048029

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,811

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

85

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,814

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 18   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

1 7/8

1 7/ 8

1 7 /8
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1 7 / 8

17/8

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,819

Correctly answered feedback
15/8 = 1 7/8

Incorrectly answered feedback
15/8 = 1 7/8

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 19   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

16cm3

16 cm3

16

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,827

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 20   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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Accepted answers:

95

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,828

Correctly answered feedback
180-42-43=95

Incorrectly answered feedback
180-42-43=95

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 21   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What is the missing number below?


18:10:4 = 27:____:6

Accepted answers:

15

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,831

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 22   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Mrs Chan deposited $12 000 in the bank for one year. The interest rate is 1% per year. How much
interest did Mrs Chan receive at the end of one year?

Accepted answers:

$120

$ 120
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120

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,918

Correctly answered feedback
1/100 x $12000= 120

Incorrectly answered feedback
1/100 x $12000= 120

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 23   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

5.098

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,920

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 24   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Find the value of 24.81÷30

Accepted answers:

0.827

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,922
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 25   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The price of a bag $20. Mrs Ong bought the bag and had to pay an additional 7% GST. What was the
price of the bag including GST?

Accepted answers:

$21.40

$ 21.40

21.40

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,931

Correctly answered feedback
7/100 x 20 = 1.40

20+1.40=21.40

Incorrectly answered feedback
7/100 x 20 = 1.40

20+1.40=21.40

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 26   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

23

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,935

Correctly answered feedback
32+28+46+9=115

115÷5=23

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013922
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013922&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013931
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013931&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049


9/20/21, 10:53 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1815049&trk=edittest_inrow_edit 14/30

Incorrectly answered feedback
32+28+46+9=115

115÷5=23

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 27   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

49

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,938

Correctly answered feedback
113-64=49

Incorrectly answered feedback
113-64=49

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 28   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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Accepted answers:

36cm2

36 cm2

36

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,948

Correctly answered feedback
1/2 x 6 x12=36

Incorrectly answered feedback
1/2 x 6 x12=36

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 29   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

160

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,952

Correctly answered feedback
AB+BQ=32

AP+DC=32

PS+SD=48

QR+RC=48

32+32+48+48=160

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013948
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013948&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049


9/20/21, 10:53 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1815049&trk=edittest_inrow_edit 16/30

Incorrectly answered feedback
AB+BQ=32

AP+DC=32

PS+SD=48

QR+RC=48

32+32+48+48=160

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 30   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Cathy worked 4 hours a day for 5 days at a restaurant. She was paid $8 per hour. How much was she
paid for the 5 days of work?

Accepted answers:

160

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,956

Correctly answered feedback
8x4=32

32x5=160

Incorrectly answered feedback
8x4=32

32x5=160

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

1200

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,961

Correctly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013952
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013952&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013956
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013956&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

36

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,964

Correctly answered feedback
12x3.50=42

12÷6=2
3+3=6

42-6=36

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013961
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013961&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Incorrectly answered feedback
12x3.50=42

12÷6=2
3+3=6

42-6=36

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

3/8

3 /8

3/ 8

3 / 8

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,968

Correctly answered feedback
Total area : 8x8=64

2(1/2 x8 x4)= 32

1/2 x4 x4 = 8

Total unshaded area = 32+8=40

total shaded area = 64-40=24


24/64 = 3/8

Incorrectly answered feedback
Total area : 8x8=64

2(1/2 x8 x4)= 32

1/2 x4 x4 = 8

Total unshaded area = 32+8=40

total shaded area = 64-40=24


24/64 = 3/8

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013964
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013964&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013968
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013968&duplicate_question=1
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Question 34   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

175

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,970

Correctly answered feedback
1/2 x 350 = 175

Incorrectly answered feedback
1/2 x 350 = 175

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 35   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The ratio of the number of boys to the number of girls to the number of teachers in a school is 3:4:1


Statement: There are 4 times as many girls as teachers 

A) True 

B) False 

C) Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,973

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Statement: Half of the people in the school are female 

A) True 

B) False 

C) Not possible to tell

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013970
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013970&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013973
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013973&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,974

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 37   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Joella was 11 years old and her mother is 39 years old. How old was Joella when her mother was 5
times as old as her?

Accepted answers:

7

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,977

Correctly answered feedback
39-11=28

28÷4=7

Incorrectly answered feedback
39-11=28

28÷4=7

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

128

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013974
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013974&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013977
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013977&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,978

Correctly answered feedback
90-38=52

180-52=128

Incorrectly answered feedback
90-38=52

180-52=128

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Mrs Gomez bought 9kg of flour to prepare for a baking class. Each of her 25 students used the same
amount of flour. There was 250g of flour left. How much flour did each of her students use? Give your
answer in kilograms.

Accepted answers:

0.350kg

0.350 kg

0.350

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,985

Correctly answered feedback
9kg = 9000g

9000g-250g=8750g

8750g÷25=350g

350g=0.350kg

Incorrectly answered feedback
9kg = 9000g

9000g-250g=8750g

8750g÷25=350g

350g=0.350kg

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Hannah, Ivy and Jenny shared a box of cookies in the ratio 3:7:2. Jenny received 25 cookies fewer
than Ivy. How many cookies were there altogether?

Accepted answers:

60

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013978
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013978&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013985
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013985&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,989

Correctly answered feedback
7-2=5

25÷5=5
7+3+2=12

5x12=60

Incorrectly answered feedback
7-2=5

25÷5=5
7+3+2=12

5x12=60

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 41   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$91

$ 91

91

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,990

Correctly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013989
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013989&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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35÷8=4R3

20x4=80

80+7+4=91

Incorrectly answered feedback
35÷8=4R3

20x4=80

80+7+4=91

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 42   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

34

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,991

Correctly answered feedback
19.70-3.20=16.50

16.50÷0.25=66

66x500=33000m

33000m = 33km

33+1=34

Incorrectly answered feedback
19.70-3.20=16.50

16.50÷0.25=66

66x500=33000m

33000m = 33km

33+1=34

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 43   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013990
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013990&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013991
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013991&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Accepted answers:

35

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,992

Correctly answered feedback
1/4 x 140= 35

Incorrectly answered feedback
1/4 x 140= 35

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 44   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) The average number of mobile phones sold from January to June was 115. How many mobile
phones were sold in April?

Accepted answers:

150

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,993

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013992
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013992&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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Correctly answered feedback
115x6=690

690-120-80-100-100-140=150

Incorrectly answered feedback
115x6=690

690-120-80-100-100-140=150

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 45   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The average mass of 10 packets of coffee is 2.6kg. Two packets of coffee with masses 1.2kg and 800g
are sold.


a) Find the total mass of the 10 packets of coffee

Accepted answers:

26

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,995

Correctly answered feedback
10x2.6=26

Incorrectly answered feedback
10x2.6=26

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 46   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) Find the average mass of the remaining 8 packets of coffee 

Accepted answers:

3

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,013,997

Correctly answered feedback
26-1.2-0.8=24

24÷8=3

Incorrectly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013993
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013993&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013995
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013995&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
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26-1.2-0.8=24

24÷8=3

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 47   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

2.4l

2.4 l

2.4

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,002

Correctly answered feedback
7/8 x 40 x60 x20=50400

34x60x20= 40800

50400-40800=9600

9600÷4-2400

2400ml=2.4L

Incorrectly answered feedback
7/8 x 40 x60 x20=50400

34x60x20= 40800

50400-40800=9600

9600÷4-2400

2400ml=2.4L

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 48   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013997
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29013997&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014002
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014002&duplicate_question=1
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Accepted answers:

11

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,004

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 49   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) What is the number of dots in figure 12?

Accepted answers:

25

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,005

Correctly answered feedback
19+2=21

21+2=23

23+2=25

Incorrectly answered feedback
19+2=21

21+2=23


https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014004
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014004&duplicate_question=1
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23+2=25

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 50   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

c) Which figure number has 113 dots?

Accepted answers:

56

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,007

Correctly answered feedback
113÷2=56.5

56.5 ~ 56

Incorrectly answered feedback
113÷2=56.5

56.5 ~ 56

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 51   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Mr Lee bought 3 shirts, 2 belts and 4 pairs of pants for $486. Each shirt cost twice as much as a pair of
pants. A belt cost $30 less than a shirt.


a) Find the cost of a shirt 

Accepted answers:

78

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,010

Correctly answered feedback
486+30+30=546

546÷14=39

39x2=78

Incorrectly answered feedback
486+30+30=546

546÷14=39

39x2=78

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014005
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014005&duplicate_question=1
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 52   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) Find the cost of a belt 

Accepted answers:

48

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,011

Correctly answered feedback
78-30=48

Incorrectly answered feedback
78-30=48

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 53   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

64

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,012

Correctly answered feedback
1 unit - 32

2 units - 64

Incorrectly answered feedback
1 unit - 32

2 units - 64

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014010
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014010&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014011
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014011&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014012
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815049&question_id=29014012&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815049


9/20/21, 10:53 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1815049&trk=edittest_inrow_edit 30/30

www.classmarker.com


